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Answer all questions.

Theme 1 — Water

1. (a) Study the OS map below.
York city centre
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(i) Underline the correct answer to complete the following sentences. [2]

Approximately 15% / 35% / 55 % of York city centre is at high or medium risk of
flooding.

One grid square that has some areas with flood defences is 5851/ 5160 / 6051.

(i) Explain two reasons why areas of York have a high risk of being flooded. Use
evidence from the map to help you. [4]
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(b) Name and describe one hard engineering strategy used to manage river flooding.  [3]

S A QY oo

(c) Describe how rivers can have positive effects on the lives of people. [6]
Use one or more examples to help your answer.
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Theme 2 — Climate Change

(@) Study the graph below.

Carbon dioxide emissions (million metric tonnes)
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(i) Give the total carbon dioxide emissions of China. [1]
................................................................................................... million metric tonnes
(i) Complete the graph using the following information: [1]
carbon dioxide emissions
Country (million metric tonnes)
India 1700

(iii)  Suggest reasons to explain the difference between the total emissions of the United
States and India. [3]
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(b) Describe the actions of individual people that contribute to the greenhouse effect. [4]

(c) “People’s actions are causing climate change.”
To what extent does evidence support this statement? [6]
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Theme 3 — Living in an Active Zone

(@) Study the map below.

Earthquake hazard risk in Europe and North Africa
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Describe the distribution of areas that are at a high risk of earthquake activity across
Europe. Use map evidence only. [3]
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(b) Study the map below.

Tectonic plates
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(i) Describe the formation of one landform found along plate margins such as the one
seen in box X on the map. [3]

—
0 1000 Km

LandfOrM: e

(i)  Explain why the risk of earthquakes is high in Greece. Use evidence from the map
to help you. (3]
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(c) Explain why damage and loss of life from earthquakes is often less in countries with o

higher levels of development. [6]
Use one or more examples to help your answer.
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Theme 4 — Changing Populations

Study the graph below.

% of population living in urban areas
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Give the percentage of the population that live in urban areas in Western Europe in
2017. (1]

Calculate the predicted increase in the percentage of the population living in urban
areas in India between 2017 and 2040. 1]

What name is given to the process by which people move from one place to another,
often in search of work or a better standard of living? 1]

© WJEC CBAC Ltd. (4231-02)

Examiner
only



11

(b)  Study the population pyramid below. It shows Delhi which is an urban area in India, South
Asia.
Population pyramid for Delhi
AGE
Female
1500 1000 500 0 o0 500 1000 1500
Population in Thousands

(i) Describe the main features of the structure of Delhi’s population. [3]

(i) Suggest reasons which would explain the structure of this pyramid between the
ages of 15 and 39. [3]
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(c) Explain why birth rates vary in different parts of the world. In your answer you must refer o

to Western Europe, South Asia and sub-Saharan Africa. [6]
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Theme 5 — Globalisation

5. (a) Study the graph below.

Migration and the UK
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(i) Describe the trend of migration into the UK since 1980. 2]

(i)  Explain why greater interdependence between countries has encouraged migration.

[3]
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(b)  Study the pie chart below.

Reasons for migration to the UK

B Work Related
[ Join Family
[] Study

[ Other

Describe the economic benefits of migration for the UK. Use evidence from the pie chart
in your answer. [4]
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(c) China and India are examples of Newly Industrialised Countries (NICs). o

Have people living in NICs benefitted from globalisation? [6]
Use evidence from one NIC you have studied.
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Theme 6 — Development

(@ There are 8 Millennium Development Goals (MDGs). Each has two targets. Progress
towards meeting these targets is shown in the map below.

Trends towards meeting MDG targets
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For each of the Millenium Development Goals there are 2 targets, giving 16 targets in total sufiiteent dkta

Source: Millenium Project (2005)

(i) In Europe how many of the 16 targets are on target? Use map evidence only. [1]

(i) Use the map to compare the progress made by South Asia and sub-Saharan
Africa. 2]
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(b) Nigeria is a country in sub-Saharan Africa. Study the map below.

Literacy of 15 to 19 year olds in Nigeria
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(c) There are often differences in development within a country. For one country that you Examiner
have studied describe the regional patterns of development within it. only
You must draw a labelled map to help your answer. [6]

END OF PAPER
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